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Read the instructions and do as directed.  

 I) Read the questions carefully. Solve them if required and then circle the correct 

answer.                                                                                                                         (2)  

1) By how much is 78,000 greater than 77,999? 

    (a) 1,000  (b) 100  (c) 10   (d) 1 

2) What number should be added to 41,900 to get 42,000? 

    (a) 1   (b) 10   (c) 100   (d) 1,000 

3) 3,000 – 1,999 =  

    (a) 1   (b) 101  (c) 1,001  (d) 111 

4) 1,000 less than 30,000 is  

    (a) 29,000             (b) 31,000  (c) 39,000  (d) 29,900  

II) Arrange and find the sum.                                                                                          (2) 

a) 23,991 + 56,009   b) 19,254 + 21,646 
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III) Subtract 89,000 – 57,901 and check your answer by addition.                          (2) 

 

SUBTRACT CHECK 

  

  

  

  

 

IV) Read the story sums below and identify the operation you should use to find the 

correct answer. Put the correct sign (+ or –) in the box.                                    (2) 

1) Reena bought a Smart TV and a Laptop for ₹ 1,34,500. If the price of the laptop is ₹ 67,000, 

what is the price of the TV? 

 2) There are 34,789 males and 42,090 females in a town. What is the population of the town? 

 

V) Solve the word problem given below.                                                                     (2) 

      A scooter company produced 4,75,000 scooters in a year. It sold 3,87,000 scooters during 

the year. How many scooters were left unsold at the end of the year? 

  

  

  

  

  

  

  

 


